



1. Resuelva las siguientes ecuaciones completando los espacios.

(1) $-(y + 3) - 7 = 2y + 2$

___ □ ___ = ___ □ ___
___ □ ___ = ___ □ ___
___ = ___

(2) $2(x - 5) = 5x - 1$

___ □ ___ = ___ □ ___
___ □ ___ = ___ □ ___
___ = ___
___ = ___
___ = ___

(3) $2(3c + 1) = 5(c - 2)$

___ □ ___ = ___ □ ___
___ □ ___ = ___ □ ___
___ = ___

(4) $-4(x - 3) = 2(x - 2)$

___ □ ___ = ___ □ ___
___ □ ___ = ___ □ ___
___ = ___
___ = ___
___ = ___

(5) $5(b + 3) = 3(2b - 3)$

___ □ ___ = ___ □ ___
___ □ ___ = ___ □ ___
___ = ___
___ = ___
___ = ___

(6) $-(a - 3) = 5(a + 3)$

___ □ ___ = ___ □ ___
___ □ ___ = ___ □ ___
___ = ___
___ = ___
___ = ___

(7) $1 + (4a - 3) = 2(1 - a) + 3$

___ □ ___ □ ___ = ___ □ ___ □ ___
___ □ ___ = ___ □ ___ □ ___
___ = ___
___ = ___

(8) $2(2u + 3) - 14 = 5u + 8$

___ □ ___ □ ___ = ___ □ ___
___ □ ___ = ___ □ ___ □ ___
___ = ___
___ = ___
___ = ___

